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Mumnber of Questions : 50

DIRECTIONS for gquestion 1 to 5: In each question,
the word at the top of the tableis used in four different
ways, tutrbered 1to 4 Choosethe option in which the

usage  of the word iz INCOREECT  or
MNAPFROFEIATE.
L. Help
a. This syrup wall help your caold
b, Tean'thelp the colour of ry skan.
c. Famjit may help himszelf with the beer in
the fidge.
d. Do you really expect me to help you out
with cash?
2 Feason
a. Yourstand isbeyond all reason.
b, Has she given wou any reason for her
resignation?
c. There iz litfle reason in your promgpous
advice.
d How do wou deal with a friend who
doesn’t listen toa reasony
3 Faper
a.  Your suggestions look great on thepaper,
but are ahsolutel v impractical.
b, Do ywou kmow how nany treesare killed to
make a trucldoad of paper?
c. 8o far I have beenahle to paper over the
dizagreermnents among ooy brothers,
d. Dr. DMalek willl read a paper on
critninalization of palitics
4 Business
a. I want toodoan WMBA before going into
husziness.
b, My wife tuns profitable business in this
suburh.
c.  Ifweadvertise we will get twice as much
husiness as we have nowe,
d. How you spend your money 15 as much
iy business as yours.
5 Hervice
a. Customers hawe to service themselwves at
this canteen.
b, It'saservicelift, don't get into it
c. I'mnot making enough even to service the

d.

loan.
Jyoli” s hughand has been on active senvice
for three months.

DIRECTIONS for Questions 6 to 13: The sentences
given in each question, when properly sequenced, fortn

bad 24

a coherent paragraph. Each sentence iz labeled with a
letter. Choosethe most logical order of sentences from
arnong the given choices to consttuct a coherent

paragraph.

. & To rmch of the Laboy mowvemnent, it
symbolizes the brutality of the upper
classes.

B. And to everybody watching, the current
mess over foxhunting . symbolizes  the
govertmett’ s wealiness,

C. To foxr hunting’s supporters, Labour's
1991 manifesto cofmnittnent to ban it
symbolizes the party’ s metropalitan roots
and haostility tothe countryaide.

D Small | issues  somefimes lave large
sytrbolic powet.

E." To those who erjoy thindering across the
country side in red coast afler foxzes, fox
hunting symbolizes the ancent roots of

rural lives.

a DEACBE

h. ECDBA

c. CEADB

d DBAEC

7. A In the case of King Nemochazzar's
courtship of the Princess of the Cuter
[eles, there ocours a regrettable itch

B. She admowledges the gifts, but no word
of'a meeting date follows

C. The monarch, hearing good reparts of a
neighbonng princess, dispatches
messengers with gfts to her cowurdt,
beseeching an nterview.

[, The princess names a date, and a formml
meeting takes place, after that everything
buzzes along pretty amoothly.

E. Foyal love affairs in olden days were
conducted on the correspondence method

a ACBLE

b, ARCLCE

c. ECDAR

d ECBAD

8. &, Who can trace to its beginnings the love of

Damon for Pythias, of Dawid for Jonathan,
of Swan for Edgar?

mirnilarly with men,

There iz about great fiendships between
man and a certain inevitability that can
only  be compared with the age-old
association of ham and eggs.

D One simply feelsthat it iz one ofthe things

that trst be so.

ERey
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10.

11.
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Mo one can say what was the mutsal
tmagnetism  that brought the deathless
partnership of these whole-zome and
palatable foodstuffs about.

ACBED

CEDBA

ACERD

CEABD

Evwvents intetwened, and in the late 1930z
and 1940z, Gerrrany suffered frorm “over-
branding”.

The British used to be fascirated by the
home of Fomanticiam.

Bt reunification and the fedeml
govermtnent’s  tmowve to Betlin hawve
prompted Gerrmany to thinds again ghout its
image,

The first foreign package holiday was a
tour of Germany organized by Thomas
Codk in 1855

since  then, Genmany  hazs been
understandably nervous ahout promoting
itselfabroad.

ACERD

DECAB

BDAEC

DBAEC

The wmll does not simply divide Ismel
from a putative Palestinian state on the
basis ofthe 1967 borders.

& chilling ormizsion from the road map is
the ggantic separmtion wall now heing
built in the West banls by Tarael.

It iz surrounded by trenches, electric wire
and roats, there are watchiowers  at
reqular intervals,

It actually takes™ in new ftracts of
Palestinian land, sometimes five or six
lalometers at a stretch.

Almost a decade after fhe end of Zouth
Aftican apattheid, this ghastly racist well
15 going up with scarcely a pesp from
Israel™s American allies who are going to
pay fortmost of it

EBCAD

BADCE

AEDCE

ECADE

Luclaly the tide of battle moved elsewhere
after the Armerican victory at WMidway and
an Australian wictory over Japan at Milhe
Bay.

It cowd have been no more than a
delaying tactic,

The Australian tmilitary, kmowing the
position was hopeless, planned to fall back
to the south-east in the hope of defending
the main cities.

Toof e
D They had captured tnost of the Solormon
Idands and ruch of Mew Guinea, and
seetned poised for an invasion.
E. Mot rrany people outside Australia realize
how cloze the Japanese got.

a EDCBA

h. ECDAR

c. ADCBE

d CDBAE

14, A, Call it the third wawe sweeping the Indan
tredia.

B. Mow, they are statring in a new role, as
suave dealmmakers who ate in a huny to
strilze alliances and a greetments.

C. Look around and you wdll find a host of
deals that have been iflked of are ready to
be finalized.

D Then the media barons wrested back
control frofm their ‘editors, and tumed
marketing wairiors with the brand az their
i ssile.

E. " The first came with those magnificent
mer in their mahogany chambers who
took on the world wath their nughty
foundation pens.

a ACBED

b. CEBDA

c. CAFEBD

d  AEDBC

13 &, The celebrations of economic recovery in

washing-ton may be as prenature as that
“Iission accomplished” banner hung on
the US55 Abmham Lincoln to hail the end
ofthe Iraqg war.

B. Mleanwhile, in thereal world, the struggles
of fanilies and conmmunities continue
unabated.

C. Washington responded to the favorble
turn in econormic news with enthusiasm.

D. The celebrations and high-fives up and
down Pennsylvania Avenue are not to be
found beyond the B eltway.

E. When the third quarter GDF showed

growth of 7280 and the monthly

unermployroent mte dpped to 6% euphoria
gripped the S capital.

ACEDB

CEDAR

ECABD

ECBAD

oo

DIRECTIONS for Questions 14 to 21: There are two

gaps in each of the followang sentences. Frotm the paits

of words giver, choose the one that 11z the gaps most

approptiately. The frst word in the pair should fill the

first map.

14. The best punctuation iz that of which the
reader iz least conscous, for  when
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15,

14.

17.

15.

19,

a0.

a1

punctuation, or lack of it,
1susually hecause it

a. Obtrudes, Offends

b, “Enjoins, fails

c. Conceals, recedes

i. Effaces, Counts

The argument that the need for a looser fiscal

itgelf, it

policy to demand out weights the
need  to budaet  deficits iz
persuasive.

a. Asgsess, Minitnize

b, Outstrip, Elirinate

c.  Stirmilate, Control

d. Festtain, Coticeal

The Athenians on the whole were peacefil and
prosperous, they had to =it at hotne
and thinlz abmit the umiverse and dispute with

mocrates,  or  to tmEwel  abroad  and
the world.

a. Leisure, Ezplore

b, Time, ignore

c.  Ability, suffer

d. Temerity, understand

Their achievement in the field of litermture is
described as . sormetimes it i3 even
called .

a. DNlagmificent, responsible

b, Insignificant, Influential

c. Significant, Paltry

d. Unimportant, Trivial

Thiz simplified to the decision-
malking  process 15 a  nmst reado for
anyone important real estate, persopal,
or professional decisions.

a. Primer, Mammizing

b, Tract, Enacting

c.  Introduction, Under

d. Guide, Facing

Fhysicians may soon have to help
paralyzed people move their limbs by
bypassang  the nerve that once
controlled their muscles.

a.  Instruments, detrimental

b, Ways, Datnaged

c.  Feason, involuntary

d. Impediroents, comples

The Imternet 1z a medivm where users have
neatly choices  and
cotstraints about where to go and what to do.
a. Unbalanced, MNonesistent

b, Ebatrassing, Mo

o Unlirited, Winitmal

d. Choldng, Shocking

Frotm the tirne she had put her hair up, every
trian she had et had groveled before her and
the had acquired a mental attitnde toward the
other zex wiich was a blend of and

a.  Admiration, Tolerance

oo e
b, Indifference, Conterrpt
c.  Iltnpettinence, Ternperature
d. Arrogance, Fidelity

DIRECTIONS for Questions 22 to 25 Four
alternative sumraries are gven below each test
Choose the option that best captures the essence of the

temt.

2

23

sotrie decisions will be faitly obsious — "no-
brainers " Your batlk accourt i3 low, but you
hawe a two-week wacation coming up and you
want to get avay to some place warm to relas
wiath your family. Will you accept your in-
laws' offer of free use of their Flonda
beachfont condo? Swe  You o lke your
erplover and feel ready o move forward in
vour career. Will wou step i for your boss for
three weelss while she attends a professional
dewelopment courze? OF course,

A, Some decisionsare abvious under cettain
croumstances. You may, for example,
readily accept a relative's offer of free
holiday accommodation. Or step in for
yourhozs when sheiz away.

B. Some decisions are no-trainers. ¥ ou need
not think when making them Fxzamples
are condo offers from in-laws and job
offers from bosses when wyow bank
account is low or hossis away.

C. Fasy decisionz are called "no-brainers"
because they do not require any cerebral
activity. Fxamples such az accepting free
holiday accommodation abound m our
lives.

D Accepting an offer from in-laws when you
are shott on fnds and want a holiday iz a
no-trainer. Another no-brainer is taling
the boss's job when she is away.

a A
b B
c.
d D

Fhoysically, inertia is a feeling that you just
cant tnove, mentally, it 15 a sluggsh mind
Ewen if wou try to be senstive, 1F your rind is
sluggish, you just don't feel anything intensely.
You ray ever see a tragedy enacted in front
of your eyes and not be able to respond
mearingfully. You may see one person
exploiting another, one group persecuting
another, and not be ‘able to get angry. Your
energy iz fozen. You ate not delibemtely
tefusing to act, you just dont hawve the
capacity.
A Inertia takes your body and  mmind
sluggish. They become msenstive to
tragedies, exploifation, and persecution
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because it feszes your energy and
decapacitaes it.

B. When wyou hawe inerttia you don't act
although vou see one person exploiting
another or one group persecuting ancther.
You dont get angry because you are
iticapahle.

C. Inettia iz of two types — physical and
tnental. Physical inertia restricts bodily
tmovernents.  DMertal  inettia  prevents
tnental response to events enacted in font
of your eyes.

D Physcal inettia stops your body fom
moving, tental inertia  freezes  your
energy, and stops your mind from
responding meaningfidly to events, even
tragedies, in front of you.

a A
h. B
c. C
d D

Try before you buy. We use this memorable
saying to urge you to  experience the
consequences of an altemative before you
choose it, whenever thiz iz feasible If you are
consdering buying a van after having always
owned sedans, rent one for a weelk or borrow a
friend's. By experiencing the consequences
first hand, they become more meaningful. In
addition, wou are lkely to  identify
consequences you had not even thought of
before. Wlay be you will discover that it is
difficult to park the van in your amall parling
space at worlg, but that, on the other hand, Four
eldedy fther has amuch easier time getting in
and out ofit.

A If you are plarning to buy a wvan after
being used to sedans, borrovea van or rent
it and try it before deciding to buy it Then
you may realize tlat parling a van is
difficult while it is easier for your elderly
father to get in andout of it.

B. Before choosing an altemative, experience
its  cofiseguences if feasible If, for
exarrple, you want to change from sedans
to awar tty one before buying it ¥ou wall
dizcower aspects you tay never hawve
thought of

C. Always try before you tuy anything. You
are bound to discover rrany consequences.
One of the consequences of going in fora
watl 13 that it iz mote difficult to patk than
sedatis at the office car park

5.

& od T

mnoop
B w = iy

It is immpottant for shipping companies to be
clear ghout the objectives for maintenance and
tratetials management — as to whether the
pitnaty focusis on service lewvel itnprovement
or cost rindmnization. Often when cettain
systetns are set in place, the cost mindmization
objective and associated procedure becotne
trote irrportant than the fesbility required for
service level improvernent. The problem really
atizes since. Cost rinitmzation tends to focus
on out of poclzet costs which are srsible, wihile
the opportunity costs, often greater in walue,
are lost sight of

A, Shipping  companies have to  either
mMinitriFe Costs. or MEMIMITE  SErVice
quality,  If 0 they focus on cost
minirmzation, they will reduce oquality.
They should foous on service level
improvement, or else opportunity costs
will helost sight of

B. Shipping companies should determine the
primary focus of thelr mainterance and
materials management. Focus on cost
rminirization may reduce wisible costs, but
ignore greater invisible costs and impair
service quality.

C. Any cost minimization program  in
shipping iz bound to lower the quality of
service. Therefore, shipping companies
rmust be clear about the primary focus of
their  maintenance  and  nmEterials
managemnent before embarking on cost
trinirmizati on.

D. Shipping companies should focus on
quality level improvernent mther than cost
cutting Cost cutting wall lead to untold
opportunity costs, Corrpaties should have
systems in place to make the serwice level
flessitle.

A

B

C

D

oo

DIRECTIONS for Questions 26 to 50: Fach of the

five passages given below iz followed by fve
questionis. Choose the best answet to each question.

PARRALE

D We urge vou to try products such as wans
before taging them  Then you can
experience consequences you hawe not
thought of such as patldng problems But
vour father may find wans  more
comnfortable than cars.

Pure love of learring, of cowtse was a less compelling
tnotive for those who became educated for careers
othet than teaching. Students of law in patticular had a
reputation for being materialistic careerists in an age
when law was beconing knovm as “the lucmtive
science” and its successfinl practice the best means for
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rapid advancement in the govermment of both church
and state. Mledicine too had its profit-malang
attractionz. Those who did not go on to law or
medicine could, if they had been well trained in the
arts, gain positions at roval courts or rise in the clergy.
Floguent testimorny to the profit motive bebind much
of twelfth-century education was the lament of a
student of Abelard around 1150 that “Christians
educate their sons....for gain, in order that the one
brother, if he be a derls, may help his father and
mother and his other brothers saying that a clerk wall
tave no heir and whatever he has will be ours and the
other brothers" With the opening of positions in law,
governnent, and the church, education became a
means for advancement not only in incomne but alzo in
status. IWost who were educated were wealthy, but in
the twel fth century, more often than before, many were
not and were able to rise through the ranks by means
of their education. The most farndiar examples ate
Thotnas Beclzet, who rose from a humble background
to hecome chancellor of England and then archbishop
of Canterbury, and John of Salistury, who was born a
"plebeian" but because of his reputation for learning
diedas bishop of Chatters.
The instances of Becket and John of Salishury bring us
to the most difficult gquestion concerming el fth-
century education: To what degree was it still a clesiv.
preserwe? Despite the fact that throughout the twons
century the clergy bad a monopoly of instuctcan we
of the outstanding medievalists of our dai-century
southern, refers with good reason to th .
staffed by the clergy as "secular schordt onily were, we
mrake sense out of the paradozx tyrofessonalfentury
schools were clefical and yet "ses in northerp
Let us look at the clerical sidalstatus andhly were ail
twelfth century  teachers arepriests,  essonals and
crafismen in church oridents all Wnorthern Furope
students in schools hded to the chtus and looked like
priests. Mot that alof twel th-cepriests,
But by virtue riception of Itz all were awarded the
lemal privileser their studiFin the clergy. Furthermore,
the large aed. For thesteel fih-century students, mtside
of the sed to denot§ition of Haly, if not already priests
becs "layman' ofeir studies
vard for cleric For these reasons, the term "clec" was
“nym foto denote a man who was literate and the
thipman" one who was illiterate. The English
T for cleric, clerk, contimed for a long time tobe a
grnonym for student or for a man who could write,
wiile the French word cletds even today has the
connotation of intellechml
Despite all this, twelfth-cenhry education was talang
on many secular qualities in its enwironment, goals,
and cumicwlum Student life obwiously became more
secular when it moved out from the monasteries into
the husthng towns Mozt students wandered from tn:rwn

Boof G
rnportant than environment was the fact that most
studertz, even though they entered the clergy, had
secular goals. Theology was recognized as the "queen
of the sciences," but very few went on to it Instead
they used their study of the liberal arts as a preparation
for law, medicine, govermernt  service, or
advancemernt in the ecclesiastical hierarchy.

This being so, the curriculum of the libert, bis hecame
more sophisticated and more divorcediat of aligion.
Teaching was still almost exclusivee 0f rhetotgng the
first book most often read was *U¥ W0 A0Sty further
education was no longer sdacuments, ¥ of a choir
school. In particular, the m all the 1% rhetoric was
transformed from a linedvanced thannto instruction in
how to compose lett wereintrodigments; there was a
new stress on loeSE OF lOGIC @1 the liberal arts and
philosophy texstC philosoplificed than those known in
the early Ipdnt was the feintroduced.

& long wif Atistotle, Jf logic came the translation of
Greels commentatorihilosophical and scientific worls.
Ioring about Aras the translation of almost all the
vreek mtionaliristotle, as well as his sophisticated
withe Arabs inentators, which helped

Centry 0" about an intellectual revolution based on
of 280 rationalism. On a more prosaic level, contact
trath Arahs resulted in the introduction in the twelfih
reenbiy of the Arabic numeral system and the concept
of zero. Though most westerners first resisted this and
trade crude jokes ahout the zero as an ambitious
titnber "that counts for nothing and yet wants to be
coutted," the systetn steadily made its itwoads frst in
Italy and then throughout Eutope, thershy swastly
strplifying  the arts of comptation and record

keeping.

26, According to the authar, in the twelfth century,
individuals were motivated to get higher
education because it
a. Was a means for neterial advancement
and igher status?

b, Gave people with wealth an opportunity to
learn.

c. Offered a coveted place for those with a
love oflearning,

d. Directly added to the income level: of
people,

a7 According to the passage, what led to the
secularization of the cumiculum of the liberal

arts in the twel fth century?

a It was divorced from religon and its
influences.

b, Studerts ueed it mainly as a base for
studying law and medicine.

c. Teaching could no longer be conducted

to town in search not only of good mastergdut als exclusively in Latin,
worldly  exciternent, and ai/\MlW&ﬁfuﬁr ntS UV|d Iﬂ]&%]@:@ﬁﬁ{iﬂtmduced irto the curiculurm

progressed they found the best of each in FPans More
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28 According to the passage, twelfth century
schools were clenical and et secular becanse:

a. Many teachers were craftsmen and
professionals who did not forn part of the
church,

b, While the students had the legal privileges
accotded to the clergy and looked like
priests, ot all were really priests.

c. The tenn 'cleic' denoted a  litemate
individoal rather than a strict association
with the church.

d. Though the cergy had a monopoly in
education, the environment, objectives and
curticilum in the schools were becotning
secular,

a0 What does the sentence “Christiang educate
their szons...will be ows and the other

brothers” imply?
a. The Christian family was a close-kmnit unit
in the twel fth century.

b, Christians educated their sons not so mmch
for the lowe of learning as for material
gain.

c. Christians believed wery strongly in
educating their sons in the Church,

d. The relationship between Christian parents
and their sons was exploitative in the
twel fth century.

a0, According to the passage, which of the
following iz the most noteworthy trend in
education in twel th-centiry Europe?

a. Secularization of education.

b, Flowering of thedlogy as the queen of the

SCLENCES.

c. Wealthy people increasingly fuming to
education.

d. Rise of the dergy's influence on the
curriculum,

BANNAGE

While [ was in cdass at Colurnbia, struggling with the
esoterica du jour oy father was on a brickdayer's
scaffold not far up the street, workdng on a carpus
building. Oncewe met up on the subway going home —
he was with hisdools, [ with my bools Wy father
wast't interested in Thucydides, and [ wasn't up on
arches. Wiy dad has built lots of places in Mew York
City he can't get into: colleges, condos, office towers,
Hermade his living on the outside Once the walls were
up, a place took ot a different feel for hitn, as though
he wasn't welcome atymore. Belated by blood, we're
separated by class, my father and [ Being the white-
collat child of a blue-collar parent means being the
hinge on the door bebaeen two ways of life. With one
foot it the wotldng-class, the other in the middle class,
people lke me are Straddlers, at home in neither
wirld, living a limbo life

g ad G
What drove me to leave what 1 knew? Bon blue-
collar, I still never felt completely at home arnong the
tough guys and antidntellectual crowd of no
neighborhood in despest Brooklyn, 1 newer did
cotrpletely fit in among the preppies and subutban
tovalty of Colutmbia, either. It's like that for Straddlers.
It was not so stnooth jutrping from Ttalian old-wotld
style to US professioral in a single generation Others,
who were the first in their families to go to college,
will tell ywou the same thing: the acaderny can render
you urecogrizable to the ety people who launched
you itto the wotld. The ideas and walues absorbed
I college clallenge the mom-and-pop orthodosxy that
passed for truth for 18 years Limbo folls may eschew
polyester blends for sea-isle cofton, prefer Brie to
Eraft dlices They marry outaide the neighborhood and
raise their kids differently. They might not be in
chnrch on Sunday,
When they pick careers (not jobs), it's often a land of
wirke their parents never heard of or can't understand.
But for the white-collar lade of blue-callar parents, the
office iz not necessanly a sanctuary. In Corporate
America, where the tules are based on notions foreigm
to worldng-class people, a Straddler can get lost.
social class courits at the office, even though nobody
likes to admmit it. Ttimately, corporate normes are based
ot tmiddle-class walues, business types say. From an
early age, riddle-class people leam how to get along,
uzing diplomacy, muance, and politics to grab what
they need. It iz as though they are following a set of
riles laid out in a manual that blue callar famlies
never have the clanceto read.
People bom into the middle class to parerts with
college degrees hawve lived lives filled with what
French sociologist Piemre Boundien callzs ‘culturml
capital'. Growing up in an educated environrment, they
leam about Ficasso and Mozart, stock portfolios and
créme brdee. In a hore with cultuml capital, there are
networls someone always has an aunt o golfing
tddy with the insde track for an internship or some
entry lewel job, Dinner-table talk could involve what
tappened that davy to o and dad at the law finn, the
doctot's office, or the executive suite MWiddle-class
lads can grow up with a sense of entitlernent that wall
catry them through their lives. This 'helongingness' is
niot just related to having material means, italso has to
do with learning and possessng confidence in your
place in the wotld Such early access and direct
emzposute to culture in the hotne is the more organic,
legitimate' means of appropriating cultunng capital,
Bourdien tells us. Those of us possessing 'idl-gotten
Culture' can learn it, but never as well. Something is
aways a lLttle off about us, like an engine with
inprecise titning There's a greater tmatch between
triddleclass lives and the institufions in which the
triddle class wotlks and opemtes—universities o
cotpotations. Children of the middle and upper classes
lawe been spealdng the language of the bosses and
supervisors forever,
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Blue-collar ldds are taught by their parents and
cotrpnnnities to worls hard to achieve, and that terit is
rewatrded. But no blue-collar parent knows whether
such things are true in the middle-class world. WWlany
professionals born to the wotldng-class report feeling
out of place and out manoesuwred in the office. Soon
etwough, Straddlers leam that straight tall won't always
cut Fesolwing conflicts head-on and spealdng wour
trind doesn't always wotls, no matter how educated the
straddler iz,

In the wotking-class, people perfortm jobs in which
they are closely supetvised and are required to follow
orders and mnstructions. That, in tn, affects how they
socialize theit children. Children of the wotldng-class
are brought up i1 a home in which confortrity,
ohedience and intolerance for back talk are the norm—
the same chamacteristics that make a good factory
wiorler.

3l Which of the following statements about
Straddlers does the passage NOT support
exzplicitly?

a. Their food preferences may not match
those of their parents.

b, They may not keep up some central
religious practices of their parents.

c. They are at home neither in the middle
class nor in the worldng-class.

d. Their political ideologies may differ fom
those of their parents.

32. What does the author’s statement, “Tuly father
wam't interested in Thocydides, and I'wman’t
up on arches”, illustrate?

a. UOrganic cultuml capital
b, Professional arrogance and social distance,
c. Ewolving social transformation,
d. Breakdown of family relationshifs.
a3, When Straddlers enter swhite collar jobs, they

getlost becauss:
a. They are throwm into’an alien wmlue
system.

b, Ther families bawve not read the ndes in
corporate manual s
c. They have no one to guide themn through
the Cotporate maze.
d.  Theytniss the “rmom and pop orthodoxy™
. According to the passage, the pattems of
socialization of worldng-class children rrale
thern most suted for jobsthat require
a. Diplomracy
b, Cotopliatce with orders
c. Enterprizse and initiative
d. Highrisktaking
35. According to the passage, which of the
following staternents about “cultural capital’ is
NOT true?
a. It socializes children early into the nomns
of middle claszinstitutions.
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b, It helps them learn the lanmuage of
urdversities and corporations.
c. It creates a sense of enlightenment in
mmiddle-class chuldren.
d. It dewelops tright ds into Straddlers

PEARTAGE 1Y

At first sight, it looks as through panchyati raj, the
lower layer of fedemmlistn in owr polity, is as finmly
etitrenched in our systern as is the older and higher
layer cornprising the union Goverturent and the States.
Like the democratic institutions at the higher level,
those at the panchayat level, the panclayati m)
mnstitutions (FEIsg), are written into and protected by
the Constitution. All the essential features, which
distinguish a uritary systemn frorm a federal one, are as
much enshnned at the lower as at the upper level of
our federal system. Bt look cosely and you wall
dizcowver a ftal flaw The letter of the Constitution as
well az the spitit of thepresent polity have expozed the
infra-state level of owr federal system to a dilemma of
which the inter-State and UTnion-State layers are free.
The flaw has many causes. Bt all of them are rooted
i an historical anomaly, that wiile the dynamics of
federaliam and democracy have given added strength
to the nghts given to the States in the Constitution,
they have worleed against the rights of panchayats.

At both lewels of our federal system there is the same
tuzde between thoze who have certain rights and thoze
who try to encroach upon them if they believe they
cart. Thus the Union Govermment was able to encroach
upon certain rights given to the States by the
Constitution. It got away with that because the single
dorminant party system, wiich characterized Centre-
State relations for close upon two decades, gave the
patty i power at the Undion level many extra-
constitutional political levers. Second, the Supreme
Cowt had not yet begun to extend the lirmts of its
power. But all that has changed in recent tirnes. The
spurt given to a modbi-party democrmcy by the
overthrow of the Emergency in 1977 became a long-
term trend later on because of the ways in which a
wigorously dernocratic multi-party systemn works ina
political society which is as assettively pluralistic as
Indian society is. It gives political cdout to all the
vatious segments which constitute that society.
secondly, because of the linguistic organization of
States in the 1950s, many of the most assettive
segments have found their most assertive expression as
atates. Thirdly, with single-patty dominance becotning
a thing of the past at the Union lewel, govettunents can
he fortned at that lewel only by rnltiparty coalitions in
which Statelewel parties ate major players. This has
trade it irpossble for the Undon Govettnent to do
trnach about anything unless it also carries a sufficient
tonber of State-level parties with it Indian federalism
iz now more real than it used to be, but an unfortanate
side-effect 1z that India's panchayatl raj system,
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irangurated with such fanfare in the early 1930z, and
tasbecotne less real.

By the titne the PRIz came on the scene, most of the
political space in our federal systern had been occupied
by the Centre it the frst 30 years of Independence,
and most of what was still left after that was occupied
by the States in the nest 200 PRIz tight have hoped to
wrest sotne space fom their itmmediate neighbours,
the States, just asthe States had wrested some from the
Centre. But having at last managed to checlanate the
Center’s encroachinents on their rights, the States wete
tiot ahout to allowthe PRIz to do some encroaching of
their own.

By the 1950z and eatly 19903, the only natioml party
left, the Congress, had gone deeper into a sege
mentality, Finding itself surrounded by State-lewel
parties, it had built walls against them instead of
winning them ower. MNext, the States retaliated by
hocddng Congress proposals for panchayati raj in
Farliament, suspecting that the Certre would try to use
manchayatz to y-pass  State Governments. The
suspicion fed on the fact that the powers propozed by
the Congress for panchayats were very simdlar to many
of the more lucrative powers of State governments.
State-level leaders also  feared, perhaps, that if
manchayat-level leaders captured some of the larger
FRIz, such as district-level panchayats, they would
exert presaure on State level leaders through intra- State
rrlti -party federaliam

It s0on became obwious to Congress leaders that there
was no way the panchayvati mj amendments thew
wanted to write into the Constitution would pass
muster urless State lewel parties were given their
pound of flesh. The amendments were allowed only
after it was agreed that the powers of panctayats could
be listed in the Constitution. [lustratisely, they would
be defined and endowed on PRIz by the State
Legidatureacting at its discretion

Thiz left the door wide open for the States to exert the
power of the new political fact that while the Union
and State Governnerts could afford to ignore
panchayats as long as the ML As were happy, the
Urion Goverturient had to be sensitive

to the derrands of State-level parties. This has given
otate lewel actors strong beachheads on the shores of
both irter- State and intra-State federalism. By using
watl ous administrative devices and non-elected parallel
structures, State Govemtnents have subordinated their
FEIs to the State administration and given the upper
tand to State Governrnert officials against the elected
heads of PRIz Panchayats have become local agencies
for itmplementing schemes drawn up in distant State
capitals. And their own volition las heen firther
circutnscribed by a plethora of "Centrally-sponsored
sthernes". These are drawn up by even more distart
central authorities but at the samme tirne tie up local
gtaff and resources on pain of the schemes being
switched off in the absence of matching local
cortritntion. The "foreign aid" syndrome can be

e

Loof 53
cleatly seen at work belind this kind of "grmss roots
developrnent”.

36. What is the "dilernmna” at the intra-GState level
tnettioned i the first pamgraph of the
passage?

a.  Shoild the state gowermments wrest more
space from the Union, before considering
the patichayati systerrl?

b, Should nghts sitnilar to those that the
otates mataged to get be extended to
patichayats ag well?

c. ohould the single party system which has
withered away be brought back at the level
ofthe States?

d. Should the 5States. get “their pound of
flesh" tbefore allowing the Tlnion
goverrument to pass any more laws?

ETR Which of the following most closely describes
the 'fatal flaw' that the pas=age refersto?

a.  The ways in which the democratic nmalti-
party systemn worls in oan assertively
plurali stic society like India'z are fawed.

b, " The mechaniams that our federml system
uzesat the Union governmert 1evel to deal
with States are imperfect.

. The instnuments that have ensured
federalism at one lewel, hawe heen used to
achieve the oppositeat another.

d. The Indian Constitution and the spirit of
the Indian polity are fatally flawed

38, Which of the following best captures the
current state of Indian federalism as descibed
i the passage?

a. The Supreme Cowt has not begun to
extend the limmits of its power,

b, The multi-patty systern has replaced the
single party systermn,

c. The Union, state and panchavyati raj lewels
hawe becorme real.

d. There iz real distribution of power
between the Union and State lesrel parties,

39, The central theme of the passage can be hest
surntranzed as:

a. Our grassroots  development at  the
patichayat level 15 now diven by the
"foreignaid" syndrome.

b. Panchayati raj iz firmily entrenched at the
lower lewel of our federal system of
ZOVEITATICE.

c. A traly federal polity has not deweloped
siice PRIz hawe not been allowed the
tiecessaty political space.

d. The Union gowemment and State-lesel
patties are engaged in a stuggle for the
protection of their respective nghts.

40. The sentence in the last patagraph, "And their
WL volition has been farther
circarmscribed.. ", refers to:
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a. The weakering of the local institotions'
ghility to plan according to their needs.

b, The increasing derrands made on elected
local leaders to match central grants with
lacal contributions.

c. The empowering of the panchayat system
as irmplemnenters of schemes from State
capitals.

d. The process by which the prescibed
Central schemes ate reforrmlated by local
elected leaders.

ERRREACE B
The endess struggle between the flesh and the spint
found an end in Greel art. The Greel attistz were
uravare of it. They were spiritual materialists, never
denying the importance of the body and ever seeing in
the body a spiritval significance. IWiysticism on the
while was alien to the Greeles, thinleers as they were,
Thought and mysticiam never go well together and
there izlittle symboliam in Greelcart. Athena was nota
gymbal of wisdom bt an embodiment of it and her
statues  were  beautifil  grave women, whose
seriousness rmight mark them as wize, bit who were
marked in no other way. The Apollo Belvedere is nota
gymbal of the sun, nor the Versailles Arterniz of the
moon. There could be nothing 1ess alan to the ways of
gymbalizm than their beautiful, nonmal humanity, Mor
did decoration really interest the Greeles. Inall theirart
they were preoccupied with
What they wanted to espress, not with ways of
expresang it, and lovely expression, merely as lovely
expresaon, did not appeal to them at &l
Greelr art is mtellectual art, the art of men who were
clear and lucid thinkers, and it is therefore plain ant.
Artistz than whom the world has never seen greater,
men endowed with the spint's best gift, found their
natural method of esmpression in the smplicity and
clanty wihich ate the endowment of the unclouded
reason. "Mothing in excess," the Greels astiom ofart, is
the dictum of men who would twush aszde all
ohscuning, entangling  superfluity, and see clearly,
plainly, wvnadomed, what they wished to espress.
strachre belongs in an especial degree to the province
of the mind dn art, and architectorics were
preeminently a matk of the Gresk The power that
trade a unified whole of the trilogy of a Greek tragedy,
tlat envisioned the sure, precize, decisive scheme of
the Gresls statue, found its most conspicuous
expression in Greek architecture. The Greels ternple is
the creation, par excellence, of tind and spirit in
equilibriutmn.
A Hindoo tetrple is a conglotnetation of adonument.
The lines of the building are completely hidden by the
decotations. Soulptred figures and omarnents crowd
its swrface, stand out
From it in thick masses, breaks it up into a bewaldering
geries of iregular tiers. It is not a ity but a
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collection, rich, confused. It looks like something not
planned but built this way and that as the orrament
requited. The conwiction undetlying it can be
perceived: sach bt of the exquisitely wrought detail
tad a rystical meaning and the terrple's exterior was
tnpottant only as a means for the artist to inscribe
thereon the sytmbols of the truth. It iz decotation, not
architecture.

Amin, he gigantic ternples of Egypt, those massive
tnmensties of granite which look as if orly the poswer
that towes in the earthgualze were tmighty enough to
bring thetr into eststence, are something other than the
creation of geometty balanced by beauty. The sdence
and the spint are there, but what is there most of all iz
force, un human  force, calin ko tremnendous,
overwhelming It reduces to. nothingness all that
belongs to man. He is annihiated  The Egyptian
architects were possessed by the consciousness of the
awiil, irresistible domination of the ways of nature,
they had no thought to give to the insignificant atom
that was man.

Greel architecture of the great age 15 the expression of
men who were, first of all, intellectual artists, kept
firmly wathin the wisible world by their mind, but, only
second to that, lovers of the tnrman world The Greelk
termple iz the perfect expression of the pure intellect
lumined by the spint. Mo other great buildings
anywhere approach its smplicity. In the Parthenon
straight columns rise to plain capitals, a pediment is
sculptured in bold relief, there iz nothing more. And
yet — here iz the Greell mimcle — this abzolute
srmplicity of struchure 15 alone in majesty of beauty
among all the temples and cathedrals and palaces of
the wordd. Nlgjestic but human, tndy Greelr Mo
supethman force as in Egypt; no strange supernatural
chapes as in India, the Parthenon is the home of
tnanity at ease, caltn, ordered, sure of itself and the
world, The Greels flung a challenge to nature in the
fillness of their joyous strength, They set their temples
ofn the surmit of a hill overdooking the wide sea,
outlined against the circle of the sy, They would build
what was more beautiful than hill and sea and oy and
greater than all these. It matters niot at all if the terrple
15 large or small, one never tlinks of the size It
tratters not how muach it is in mins A few wiite
colurnns  dotnirate the lofty height at Sundon as
securely as the great mass of the Parthenon dorninates
all the sweep of sea and land around Athens. To the
Greels architect man was the master of the wordd. His
trind could understand its laws, s spint could
dizcower itz heauty.

41. Which of the following is MOT a characteristic
of Greel architecture, according to the

passage?
a  Alackofexcess
b, Simmplicity of form

c. Empression ofintellect
d. Dlystic spirituality
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42 From the passage, which of the followang
cotrbitations can be inferred to be correct?
a. Hindoo ternple — power of nature
b, Parthenon — sitnplicity
c. Egyptian tetrple — mysticiam.
d. Greskterple — symbolism
43 According to the passage, what conception of
tnan  can  be infered  fom Egyptian
architecturs?
a. Mlanizthe centre of creation.
b, Egyptian temples sawve tman from an
hutnan forces.
c. Temples celebrate man's wictory over
nature.
d. Mlan iz inconsequential bhefore  the
tremendous force of nature,
. According to the passage, which of the
following best explains why there is litfle

symbolism in Greel art?
a. The Greels focuzed on thought mther than
mysticism.

b, The stuggle between the flesh and the
gpirit found an end in Greel art,

c.  Greel artists were-spiritual matenalists.

d. Greelk statues were embodiments rather
than symbols of qualities.

45, "The Greels flung a challenge to nature in the
fillness of their joyous strength " Which of the
following captures the 'challenge' that iz being
referred to?

a. To buld a mooment matching the
baclcground colours of the sloy and the sea

b, To build a momrnent bigger than nature's
creations

. To build monuments that were more
appealing to the rmind and spitt than
nature's creations.

d. Tobuilda small butarchitecturally perfect
monnet,

Fasn Ry
The invention of the gas turbine by Franls Whittle in
England and Hans won Chain in Gernany in 1939
sgnalled the begirming of jet transport. Although the
French engineer Lotin had wisualized the concept of et
propulsion more than 25 years earlier, it ook toprowed
traterials and the genius of Whittle and won Ohain to
recognize the advantages that a gas turhine offered
over a piston engine, including speeds in excess of 350
triles per hour. The progress from the frst flights of
liguid propellant rocket and jet-propelled aircraft in
1939 to the first fsterthan-sound (supersonic)
tratmed airplane (the Bell 2-T) in 1947 happened in
less than a decade This then led very mmpdly to a
series of supersonic fighters and borbers, the first of
which becamne operatioral in the 1950s World War I
techndlogy foundations and emerging Cod War
immperatives then led us into space wath the launch of
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Sputndls in 1957 and the placing of the first man on the
tnoon only 12 years later — a mere 24 years after the
end Wotld War IL
Mow, a hypersonic flight can take you armrwhere in the
platiet ity less than four hours. British Foyal Air Foree
Foyal and Foyal Mawy, and the air forces of several
othetr countries are going to use a dngle-engne cousin
to the FiA-22 called the F-35 Joint Strike Fighter
These plates exhibit stealthy angles and coatings that
trake it difficult for radar to detect themn, among
aviation's most cutting-edge advatces in design The
W-24, knovwm as tlt-rotor, patt helicopter, patt aitplane,
takes off wertically, then tilts itz engine forward for
winged flight It prowides speed, three times the
fayload, five times the range of the helicopters it's
tneart to replace. The new fighter, FiA-22 Raptor, with
more than a million parts, shows a perfect
analgamation of stealth, speed, avionics and agility.
It seerns corsertional (forms, like the Predator and
Global Hawds are paszse, the stealthier unmarmed aeral
vehicles (1TAW ) are in. They are shaped like ldtes,
hatz and boomerang, all but imvisible to the enemsy
radar and able to remmain over hostile ternitory withowt
any fear of getting grilled if shot dowm. Will the TTAY =
talce away plots' jobs pemmanently? Can a computer
operated machine talke a smarter and faster decision in
a war-like dtuation? The new fee-flight concept wall
mrobably supplement the exsting air traffic contral
systemn by computers on each plane to map the
altitude, route, weather and other planes; and a decade
from nowr, there wall be no use of mdar any more,
How much bigger can the airplanes get? In the' 50s
they gaot speed, in the' 80= they became stealtly. Mow,
they are getting smarer thanlts to  computer
automation. The change 15 quite huge: fom the four-
seater to the A 380 arplans. It seemns we are now
trading speed for size as we uild a new super jutnbo
jet, the 555 seater A 380, which will fiy at almost the
samne speed of the Bosng 707, introduced half a
century ago, but with an irproved capacity, range,
greater fuel econongy. & few years down the line will
cotne the tndy larger model, to be known as 7472 In
the beginning of 2005, the A380, the world's first fully
double-declked super jumbo passenger jet, weighing
1.2 rrillion pounds, may catry a load of about &40
[ SSENTELS.
Bamring the eatly phase, cwil awation has always
lagged behind the trilitary technologies (of jet engines,
lightweight corposite matenals etc). There are two
fundarnental factors behind the decline in cornmercial
aetorautics in compatison to military aeronautics
There iz no collective wision of owr fiature such as the
otwe that drowre, us in the past. Thereisalso a need fora
tnore aggressive pool of airplane design talents to
traiftain an  industty that continues to find a
troaltikillion dollat-a wear rratket for its product.
Can the history of awiation technology tell us
something about the future of aesronavtics? Hawve we
reached a final state in our ewolution to a mature
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techndlogy in asronautics? Are the challenges of
comring out with the 'better, cheaper, faster' designs
somehow inferior to those that are suited for 'faster,
higher, frther? Safety chould improve greatly as a
result of the fortheorning itmprovements in aitframes,
efgines, and avionics.

mizty years from now, atrcraft will recover on their
own i the pilot loses contral. Satellites are the key not
otly to GPS (dobal positioning systenn) navigation but
also to in-flight comnandcations, up linked weather,
and even in-fight e-tail. Although there is some
debate about what type of engines will power future
attplanes — lightweight turhines, trhocharged diesels,
ot hoth — there iz litle debate about how these power
plantzs wall be contralled. Filots of the futre can look
forward to more and better on-hoard safety equipment.

da, Why might radars not be used a decade from
now
a. otealth technology will advance s0 nomch

that it iz pointless to use mdar to detect
aircraft.

b, UUAV: can remain over hostile terntory
without any danger of being detected

c. Conputers on board may enable aircraft to
manage zafe nawigation on their owrn,

d. It iz not feasible to increase the range of
radars.

47, Accordng  to  the author, comunercial
aeromatics, in contrast to molitary asronautics,
has declined because, among other things,

a. apeed and technology bamiers are dnore
eaaly overcome in military aeronautics,

b, The collective wision of the past continues
to drive civil and comumercial actonautics.

c.  Though the industry has 3 huge market, it
has not attracted the right kind of aircraft
desigrers,

d. There is a shottage of materials, like light
weight composites, used in compnercial
aeronautics.

45. What is the meogt sacteworthy difference
hetwest V-22 and a standard airplane?

a. It can tale off vertically.

b, It has winged flight.

c. It hasesteellent payload.

d. Its mnge isvery high

49, What iz the fourth paragraph of the passage,
starting, "How rouch bigger ", about?

a. GStealth, speed, avionics, and agility of new
aircraft

. Thevwmay aitcraft size has been growing.

c. Uszeof computer autotration in aircraft.

d. SBuper-jumbo jets that can talee more than
500 passengets

=0. According to the first paragmph of the
passage, which of the fallowing statements is
MOT false?

Bled I3

a.  Franlk Whittle and Hans won Ohain were
the first to concetve of et propulson.

b, Supersonic fighter planes were frst used
it the Second World War.

c. Mo ran had trawveled faster than sound
until the 1950z,

d. The exploitation of jet propulsion for
supersoric awiation has been rernarkably
fast.

SECTION-II

No. of {juestions: S0

5L If three positive real minbers zyz satisfy
y—x=z—y and zvz = 4, then what is the
trinitran possible value of 97

a 2
b 27
oo 2
d 23."1-
52, Andntelligence agency formms a code of two
distinct digits selected fom 0,12, .....9 such

that the first digit of the code is nonzero. The
code, handwritten on a slip, can however
potentially create confidon when and read
upside down — for exarple, the code 91 may
appear as 16, how maty codes ate there for
which no such confision can arise?

a &l
b, TE
c 71
d a9
33, Consider twmo different cloth-cutting processes.

In the first one, n croular cloth pieces are cut
from a square cloth piece of side a in the
following steps: the onginal square of side a 1=
divided into n smaller squares, not necesszarily
of the zamme size; then a circle of masmuam
posable area iz cut from each of the amaller
siares. In the second process, only one crcle
of mamimm possible area is cut fom the
siare of side a and the processz ends there,
The cloth pieces remaining after cutting the
circles are scrapped in both the processes. The
ratio of the total area of scrap cloth generated
inthe former to that in the latter is:

a 11

b 201
e nfd4-xidn-x)
d [dn-x)/n(d-r)

. In the figure below (not dmwn to scale),
rectangle ABCD. Iz inscnbed in the circle with
centre at 0. The length of side AR is greater

than that of side BC. The mtio of the area of
the circle to the area of the rectangle ABCD is

7 f3. Theline segment DE intersects AB at
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E such that angle ODC = angle ADE. What is
the ratio AEAT?

55

56,

58

z
a. l:ﬁ
b 142
C. I:Eﬁ
d 1:2

There are 12 towms grouped into four zones
with thtee towns per zone It iz intended to
cormect the towns with telephone lines such
that every two towns are commected wath three
direct lines if they belong to the same zone,
and with only one direct line otherwize. How
marny direct telephone liesare required?

a 7l

b 90

c. 96

d 144

In the figure (not drawm to scale) given, P isa
point on AR such that AP:FB = 4.3 PQ) iz
parallel to AC and QD iz pamllel to CP. In
tnangle ARC, ARC = 90°, and in triangle
FO3, P30 = 90° The length of O3S iz 6 cns
What 15 ratio AP PTY

10:3

21

T3

d &3

A carizs beingdriven, ina straight ineand ata
uri form speed, towards the base of a vertical
tower The top of the tower 12 observed from
the carand, in the process, it takes 10 minutes
for the angle of elevation to change from 45°
to a0° After how much mare time wall this car
reach the base of the towet?

a. 5[\@+1]
6 3+-J'

[
’f‘[
B[ -

R S

In the figure (nnt drawn to scale) gven below,
if AD=CT» =BC, and ande BCE = 96°, how
much iz angde DBCY

59

al.

fil.

B2

f3.

L

PEood D

6 5] B

a  3i°

b &4°

c. 64°

d. Cannot be determined

Ifhotha and b belong to the set {1,2,34}, then
the number of equations of the form
ar® + br +1 =0 baving real mots is

a 10

b 7

c. f

d 12

If log, x-log, o = 2log 10then a possible
value of zis given by

a 10

b, /100

c. LAaood

d. MNone ofthese

What iz the sum of all two-digit numbers that
give a remmainder of 3 when they are divided
by 7

a.  fhaf

[T

c. GE3

d. TTT

In the figure below (not drawn to scale). AR
and C are there points on a drcle with centre
0. The chord BA is extended to a point T such
that CT becomes a tangent to the circle at
point C. if ange ATC =30° and ACT = 50°,
then the angle BOA i

B\--/A T
a. 1o0°

b, 150°

c. &0°

d. Mot possibleto determine

What iz the sum of ‘0’ terms in the series

logn+log{ v’ inl+log{nd 1 )+log{ v’ 4 )+
. 1ug[n["'”fm["*“]"”

b log[m iw "
1ug[mf1 ]yl m:]

[

tog] m™#) —1:]
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£ Let 51 be a square of side a Another squate
a2 1z formed by joining the mid-points of the
sides of 31, The same process is applied to 52
to form yet another square 33, and so on. I
A1, A2 A3 he the areas and F1, P2,
B3, ... be the petitneters of 51, 52,
T . respectively, then the ratio
Fl+ P2+ 3+ equals

Al+ A2+ A3+ ..

a. 2[1+\5]Ia
. z[z-ﬁ]m
C. 2[2+J§]m

d 21+ W2)ia

5, The infinite sum
47+ 4160 P + 2507 + . equals
a. 27714
b 21413
oo 49437
d. 256147

fi. Consider the sets Th={nn+ln+ln+in+d,

where =123, .. 96 Howimnany of these sets
cottain & or any integral muoltiple thereof(ie.,
atry one of the nrbers 61218,
a. &l
b &l
o 8l
d &3

&7 Let ABCDEF be a regular hezagon. What is
the ratio of the area of the triangde ACE to that
ofthe hexzagon AB CDEF?
a 13
b 112
co 23
d. 5%

Ba. The murher of roots conumnon between the two
equations o +3 +ax+5=0 and

C+ 2t +Te+3=0 iz

o oW
L bao— O

&9, real trher it satisfying

(1-1/m)<xE(3+1/n), for every positive
integer n, 12 best described by

a lax<4

ho lax=3

c. Oox=4d

d 1=2x=3

DIRECTIONS for guestions 70 to 72: Answer the
questions on the basis of the inforrration given below.
The seven basic symbols in a certain mrneral systemn
and their respective walues are as follows: [= 1,V =15,
H=10,L=50,C=100,Dr =500, and I =1000

Ehed 34
Ith general, the symbols in the numeral systern are read
from left to right, starting with the symbol representing
the largest walue; the same symbol cannot ocour
cortignoudy more than three tires, the walue of the
torneral is the sum of the walues of the symbals. For
ematrple, X22WII =10+ W0+ 5+ 1 +1 =37 An
emzception to the lef-toright reading occurs when a
sytnbol iz followed irmediately by a symbol of
greater walue, then, the smaller walue iz subtracted
from the larger. For example, 2IVI=(50 - 10 + 5 +
1 =44.

0. The whie of the mameral MDCCLZEE0 T s
a. 1687
b, 1787
c. 1887
d. 1987
71 The walue of the mumeral MCWECE is
a. 1999
b, 1899
c. 1989
d. 1889
T2 Which of the following can represent the
nurneral for 19957
WICTVIL S
LICVECY
LIVD
IV
Only (AYand (B
Only (C) and (D}
Only (B} and (D}
Only (L)

A =T

DIRECTIONS for questions 73 to 75: Answer the
questions on the basis of the tables given below.
Two binary operations @ and * are defined over the

set {a, e, £, o b} as per the following tables;
+

@lale|f|z|h ale |f|g|hi
a laje |fle|h alala|alala
e |le|flg|h]a elale|f|lg |k
f |flzlhl]ale® fla|f|hle |2
g |leg|bfal]e|f glalz|e |k |f
h |hja|e|f]|z hlalh |z |f |e

Thus, according to the first table £ @@ g =3, while .
according to the second tatle g*h=f, and s0 on.

73, What is the smallest positive integer n such
that g" =e¥

sitnplificati on, £ @[ £ FE D] equals:

-1
T

RO CoR OROCoCR
L

BOg th T B Lo baown I
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75 Upm dmplification, {&"*({/*@g’)}@e°
equals:

I
=ao —hom

DIRECTIONS for questions 76 to 78: Answer the
questions on the basis of the information given belowr
Consider three circular parks of equal size with centers
at Al, A2 and A3 respectively. The parks touch each
other at the edge as shown in the Sgure (not drawm to
scale). There are three paths formed by the tnangles
AlAZAS, BIBIB3 and CI1CIC3E, as showm Three
gprinters &, B and C begin miming fom points A1, B2
and 1 respectively. Each spnnter traverses her
trianmilar path clockoaise and retarns to her starting
point

7h. Let the radiug of sach circular patl be r, and
the distances to be traversed by the sprinters
AL B and C be a, band ¢, respectively. Which
ofthe followingis true?
a h-ag=c-k= 3ﬁr
b b-a=c-b=yfr

e b=[a+c)/l= 2[1+\ﬁ]r

i. c=2b—a=[2+\ﬁ)r

T Sprinter A traverses distances ALAZ, AZAZ,
and A3AL at average speedsof 20, 30 and 15,
respectively. BOtraverses her entire path a

uri fortn speed. of [1[IJ§+ EEI]. C traverses
distatices 21 CZ, T3, and C3 Cl at average
speeds of [40/3) (W3 +1], (4073043 +1),

and 120, respectively. All speeds are in the
same umit. Where would B oand © be
respectively when A finishes her sprint?
a BILC1
h. B3, C3
c. BLC3
d. B, Somewhere between C3 and C1

78, Sprinters A, B and C traverse their respective
paths at vniform speeds of v, v and w
respectively. it is known that v w? is equal
to Area A Area B Aren O, where Area A,
Area B oand Area O are the areas of tnangles
ALALAT, B1BZB3, and C1oes,

Podoad Fed
respectively. Where would A and C be when B
teaches point B 37
A2, C3
A3, C3
A3, C2
motnewhere hetween A2 and AL,
somewhere hetween C3 and C1

oo

DIRECTIONS for questions 79 to 81: Answer the
questiois on the basis ofthe inforrration gven below.
Consider a cylinder of height b cms and radiust - 25
ctns as shown in the figure (not dmwn to scale) A
ging of a certain length, when wound on its
cylindrical surface, statting at point A and ending at
point B, gives a masirmun of » turns (i other words,
the string's length iz the minmum length required to
wind » tums).

79, What iz vertical spacing'in cms between two
consecutive turns?

hin

hifn

hint

R

Cannot  be  determined wath  gwen

information

al. The zame string, when wound on the exterior
four walls of a cube of side » cmes, starting at
pont C and ending at poirt Db, can give
exactly one tun (see figure, not dmwn to
scale). The length of the string, in cms, is

2 fn

k. -q"ﬁ ¥
C H
d. Afl3n

al. In the setup of the previous two questions,
how iz b related to n?

a. h=\ﬁn
b, h=+17n
c. h=n

4. h=+fl3n

DIRECTIONS for questions 82 and 83: Answer the
questions independently of each other,

8. Let = and v be postive integers such that = is
ptitne and vis cotrposite. Then,
a. v -—xcannot be an even integer
b, xy cannot bean even integer
c. (x+ v/ cannot be an even integer
d. MNone ofthe ahowe statetnerts is true,
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83. A survey on a satrple of 25 new cars being
sold at a local auto dealer was conducted to

cotuditioning, ratio and power windows — were
already installed. The sutvey found: 15 had air
cotuditioning

2 had air conditioning atnd radio Wt no powet
windows 11 had power windowes

4 had radio and power windows

I hadall three options

What iz the mumber of cars that had none of
the opticns?

a 4

b 3

c |

d I

DIRECTIONS for quesiion 84 and 85 Answer the
questions on the basis of information given below,

A& string of three Fnglish letters is formed as per the
following rules:

a. The first letter is any wowel.

b, Thezecond letterizm, n ar p.

c. If the second letter iz m then the third
letter 1z any wowel wiich iz different fom
the first letter.

d. Ifthe second letter iz n then the thind letter
lsgaru

g. Ifthe second letteris p then the thind letter
15 the sarme as the first letter

&, How many stings of letters can possibly be
formed using the above rules?
a. 40
h. 45
c. 30
d 35
83, How many stings of letters can fpossibly be
formed usng the above mles such that the
third letter ofthe stingis e?
a. &
h. 0
c. 10
d 11

DIRECTIONS for question 86 and 100:
Angwer the questions independently of each other.

ah. Ifr iz suchthat 36 Zn 272 then

n + EJr_l[n +4)+16
r=
n+dan + 4

Mexraid

KN T

5 cr<hd

. 2Bcx<dl

7. If13r+1 <2z, and z+3=5p* then

a. = isnecessarily less than v
b. = isnecessarily greater than v

satisfies:

SRR

see which of the three popular options (air 58,

80

a0

91

o

93

PR oo 3
C. ®isnecessarily equal toy
d. Mone of the aboveis necessarily true
Let n{>1) be a composite integer such that
On is not an integer. Consider the following
satermnents:
A basa petfect integer-walued divisor which
15 greater than 1 and less than N
B:n has a perfect integer-valued divisor which
15 greater than V1 butless than n
Then,
a. Both AandB are false
b, AdstruebutB is false
c. Adsfare butB istrue
d. Both &AandB aretrie
If |B] and x=—|a|d, then which one of
the fullowing is necessatly true?

a  a-xh <0
b, a-xk=z0
c. a-—xhzl
d. a—ab =0

& pece of paper iz in the shape of a nght
angled triangle and iz cut along a line that is
parallel to the hypotenuse, leawing a amaller
trangle. There was a 33% reduction in the
length of the hypoterze of the tnangle. If the
area of the orginal trangle was 34 square
inches before the out, what is the area (in
siare inches) of the smaller triangl g7

a la@as

b, 14.565
co 15445
d. 14345

In a coastal village, every wear floods destroy

exactly half of the huts. After the flood water

recedes, twice the munber of huts destroyed

are rebuilt. The floods ocowrred consecutively

in the last three years namely 2001, 2002 and

2003, If loods are again expected in 2004, the

turrher of huts expected to be destroyed s

a. Less than the number of ks existing at
the beginning of 2001,

b, Less than the total ouwber of huts
destroyed by foodszin 200 land 2003

c. Less than the total number of hots
destroyed by foodsin 2002 and 2003.

d. Mlore than the total normber of Inds built in
2001 and 2003

Let b e, d and e be integers such that o = &b

= J2c,and 2b = 8d = [2e. Then which of the

followang pairs contains a munber that iz not

an integet?

a (a7 he)

b (&34, o)

co afld, hdf1E)

d. (&, ofd)

If e+ 2, and o+ 4 are prime numbers, then

the mumber of possible sclutions for @ 1=

a. One
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M,

95,

.

5.

99,

b, Two

c. Three

d. Mone than three

A square tin shest of sde 12 inches is
cotvetted into a box with open top in the
following  steps: The sheet 15 placed
hotizontally. Then, equal sized squares, each
of side x inches, are cut from the four comers
of the sheet. Finally, the four tesulting sdes
are hent wettically upwards in the shape of a
hox If iz an integer, then what value of =
traxitnizes the volume of the box?

oo oo
| N I

Two stmight rods El and E2 diverge from a
point A at an angle of 120° Ram starts
wallang fom pont & almg B at a uniform
speed of 3 lanhr. Shyam starts wallang at the
same tme fom A along B2 at a uni form speed
of 2 lon'h. They continue walling for 4 hours
along their respective roads and reach paints B
and C on K1 and B2, respectively. There iz a
straight line path connecting B and C. Then
Fam returns to point & after walking along the
line segmentz BC and CA. Shyarn alzo retums
to A after wallong along line segments CB and
BA. Their speeds remain unchanged. The time
interwal (in hours)  between Fanr's and
shyarn’ sreturn to the point A is

a  [10419+26)/3
b [219+10)/3
e [J19+26)/3
d. [J19+10)/3

What iz the remainder when 4% iz divided by
i
a

[ O PR N B

b
£
d.
If % and v are integers then the equation

Sx+19 =64 has

a. Mo solution forx < 300 andy < 0

b, Mo solution forz = 2500 and v = -100
c. A solution for 250 < < 300

d. A solution for 59 <y < -56

If {1/ 3)1og, M + 3log, W =1+10g, ,,; 5, then:
a M =0/N

b N =0/
. M=3/N
d AP =3/M

Using only 2,5,10,25 and 50 paise coins, what
will be the minitmun nurmber of coins required

eofd G4
to pay exactly 78 paise, 69 paise, and Re. 1.01
to three different persons?

a 19
b 20
c. 17
d 18

100, The length of the ciroumnference of a circle
equals the perirneter of a triangle of equal
ddes, and also the penmeter of a ttiangle of
equal sides, and also the perrmeter of a sgquare.
The area covered by the circde, trangle, and
sguate are ¢, t and 5, respectively. Then,
a srtxc
-3 Y.
C. &>5=1
d s=cxt

No. of Juestions: 50

DIRECTIONS for Questions 101 tolM: Answer the
questiotis onthe basis ofthe following infortration.
Four families decided to attend the matriage ceremaony
of one of their colleagues. One farmly has no ldads,
while the others have at least one ldd each. Each
farnily wath ldds has at least one ldd attending the
trartiage. Given belowis some infortmation about the
tatmilies, atd who reached when to attend the
trarnage.

101.

102.

103.

The farnily with 2 lids carne just before the famnily
withnaoldds

shatthi who does not have aty ldds reached just
before Sridewt's fatrily.

surnil and his wafe reached last wath their only lad.
Anil iz not the husband of Jova,

Anil and Faj are fathers.

sridevi's and Arita's daughters go to the same
schioal.

Jova carne before Shanthi and met Anita when she
reached the venue.

Faman stays the farthest fom the venue.

Faj said hig son could not come because of s
EXAMSE.

Which women arnved third?

a  Shanthi

b, Sridewi

c. Anita

d. Joya

Mame the correct pair of hushand and wa fe?
a. Rajand Shanthi

b, Sunil and Sridevi

c. Aniland Sridewi

d. Rajand Anita

Of the following pairs, whose daughters go to
the sarme schoaol?

a. Aniland Faman

b, Sunil and Farman

c.  Sutul and Anil
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d. Faj and Anil

104, Whose farnily is known to have more than one
lad for certain?

Faman's

Faj's

Anil's

Sunil's

oo TR

DIRECTIONS for Questions 105 to 108: Answer the
questions on the basis of the following infortmati on.

The plan above shows an office block for stz officers,
A B, C,DVE, and F. Both Band C ocoupy officers to
the right of the comidor (as one enters the officer
block) and A occupies an officer to the left of the
comidor. E and F ocoupy offices on opposite sides of
the cortidor bt their office do not face each other. The
offices of C and D face each other. E does not havea
cotner office. F's office is further down the comidor
thaty &7 but on the same side.

105 If E sits in his office and faces the corridor,
whose office i3 to hisleft?

1046. e office faces 475 office?

MOo@2 0o, e

107, 018 are F's neighbours (77

F-‘gﬂ!” oop §.ﬂ~!ﬁ oop

108, DIr was heard telling someone to go firther
down the corfidor to the last office on the
nght. Towhoze room was he trying to direct
that person?

for P B e Y 1 1)
s =l S

DIRECTIONS for Questions 109 to 112: Answer the
guestions on the basis ofthe following information.
seven faculty members at a management institute
frequent a lounge for strong coffee and stimulating
comversation. On being asked about their wisit to the
lounge last Friday we got the following responses.

Ve B

JC: [ came in first, and the nest two persons to
enter were 55 and SM. When I left the lounge,
JP and VE were present in the lounge DG 1eft
with me.

JF: When [ ettered the lounge with VE, JC was
dtting thete There was someone else, tat [
catnot retnetber who it was,

Sl Twwent to the lounge fora short while, and met
JC, 55, and DG in the lounge that day.

R [ef imtnediately after SV Left.

D& Tenet JC, 35, S, JP, and VE. during my first
vizit to the lounge [ went back to oy office
with JC. When 1 went to the lounge the
second titne, JP and VE were thetre.

PE: [ tad some urgert waorle, 20 [ did not st in the
lounge that day, but just collected my coffee
and left, JP and DG were the only people in
the lounge while [ was there.

VE: Mo commerts.

109, Based on the responses, which of the twa, JP
or D, entered the lounge first?
a JP
by DG
c. Both entered together,
d.  Cannot be deduced.
110, Who was atting with JC when JP entered the
lounge?
a a&a
b, 3hl
c. DG
d FE
111, Howmary of the seven members did WVE meet
on Friday in the lounge?
a 2
b 3
c. 4
d 5
112, Who were the last two faculty mermbers to
leave the lounge?
a JCand DG
b, PEand DG
c. JPand PE
d JPandDG
DIRECTIONS for Questions 113 to 116:
Fach question is followed by two staternents, A and £
Angwer sach question using the following instuctions:

113, In a cricket tratch, the Yman of the tnatch'
award iz given to the player scoring the
highest number of runs. In case of a tie, the
player (out of those locked in the tie) who has
talzen the higher nmber of catches is chosen.
Ewen thereafter if there 12 a tie, the player (out
of those locked in the tie) who has dropped
fewer catches is selected. Aalash, Biplab, and
Chirag who were contenders for the award
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114

115,

dropped at least one catch each Biplab

dropped 2 catches more than Aalash did,

scored =0, and took 2 catches Chirag got two

chances to catch and dropped both. Who was
the 'tran of the match?

A Chitag made 15 runs less than both
Aaltazh and Biglab.

B. The catches dropped by Biplab are 1 mote
that the catches taleen by Aalzash

a. If the gquestion can be answered by using
staterrnent A alone but not by using B
alotie.

b, If the gquestion can be answered by using
staternent B alone but not by using A
alone.

c. If the question can be answered by using
either staterment alone.

d. If the question can be answered by using
both the statemerts together it not by
either statement alone.

Four fiends, &, B, C, and DI got the top four

ranks in a competitive exarmnation, but & did

not get the first, B did not get the second, C

did not get the third, and D did not get the

fourth rante. Who secured wiich rank?y

A, Meither & nor I were among the first 2

B. HMeither B nor C was third or fourth

a. Ifthe gquestion can be answered by using
statemert & alone but not by usng B
alone.

b, If the question can be answered by using
statement B alone but not by using A
alone.

c. If the question can be answered by using
either statement alone.

d. If the question can be answered by using
both the statements together bt not by
either statement alone.

The members of a local club contritated

equally to pay Fe @00 towards a donation

Howr tnuch did each one pay?

&, If there had heen five fewer members,
each one would have paid an additional
Es 10

B. There were at least 20 members in the
club, and each one paid no more than Rs
30

a. If the gquestion can be answered by using
staternent & alone but not by using B
alone.

b, If the gquestion can be answered by using
staternent B alone but not by using A
alotie.

c. If the question can be answered by using
either statetnent alone.

d. If the question can be answered by using
both the statements together it not by
either staterment alone.

B oed I
116, A farmily has only one lad The father says

"after 'n' years, my age wll be 4 tirnes the age

of roy ldd" The mother says "after 'n' years,

trry age will be 3 times that of my kid" What
will be the corrbined ages of the patents after

' years?

&, The age difference hetween the parents is
10 wears.

B. After 'n' years the lad is going to be twice
as old as sheis now.

a. If the question can be answered by using
statetnent A alone but not by using B
alone.

b. If the question can be answered by using
statetment B alone bt not by using A
alone.

c. If the question can be answered by using
either statemnent alone,

d. If the question can be answered by using
both the statéments together bt not by
either/dtatement alone,

DIRECTIONS for Questions 117 to 121:

Angwer the gquestions on the basis of the following
inform ation.

Recertly, the snswers of a test held natioreride were
leaked “to a group of uwnserpualous people. The
trvestigative agency has arrested the mastermind and
mine other people A B, C, D, E, F, G, H, and I in this
tnatter. Irterr ogating them, the following facts have been
obtained regarding  thelr operation  Indtially  the
mastermind obtaing the correct angwer-key. All the others
ctede ther answer-keys in the following manner. They
ohtain

the answer key from one or teo people who already
possess the same. These people are called hisher
"sowrces". If the person has two sowces then hefshe
compares the answer keys obtained from both sowces. If
the key to a question from both sowrces is identical it is
copied, ctherwise it is left blank. If the person has only
otie source, hefshe copies the soweds answers into
histher copy. Finally, each person compulsonily replaces
otie of the answers (not 2 blank one) with a wrong answer
i histher answrer ke

The paper contained 200 guestions, so the itrrest gative
agetwey has ruled out the possibility of tero or more of
them introducing wrong answers to the same question.
The irrve stigative agency has a copy of the correct answer
key and has tatadated the following data These data
represent question manbers.

Mamme | Wrong Answer(s) | Blank Answer's)

& 44 —

B 2l 44,90,25

C 2T, 56 17.46.90

D 17 —

E 44, 90 —

F 14, 44 g2, 90

G 25 —

H 4p, 02 —

I 27 17,46, 00
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117, Which one among the following must have

twn sources?
a A
h. B
c. C
d D

115, How traty people (excluding the trasterrmind)
needed to malke answer-keys before C could
trale his answer-key?

2

a
b, 3
c. 4
d 5
119, Both G and H were sourcesto
a F
h. B
c. |
i

. None of the nine
120, Which ofthe following statements is true?
a. Cintroduced the wrong answer to question
T
b, E introduced the wrong answer to question
48,
c. F introduced the wrong answer to question
14,
d H introduced the wrong answer to
question 4.
121, Which of the following two groups of people
had identical sources?

A A DandG

B. EandH

a. Ooly (A

b, Only (B

c. Mether (A% nor (B

d BothiAyand (B
DIRECTIONS for Question 122:

Answer the question on the basis of the following
information.

122, GBeverty percent of the employess in a
maltinational comporation have VCD players,
75 percent have microwave ovens, 50 percert
have ACs and 85 percent have washing
rrachines. At least what percentage of

ernployees has all four gadgets”
a. 13

L

c. 10

d. Cannot be detertmined

DIRECTIONS for Questions 123 and 124: Answer
the gquestions on the basis of the following imformation.
shown below is the layout of rajor streets ina city.

B ad 34
Two days (Thursday and Friday) are left for
catnpaigning hefore a major election, and the city
adtrind stration has received requests from fve political
patties for taling out their processions along the
followang routes
Congress A-C-D-FE  BIP A-B-D-E
SF A-B-C-E
BSF. B—C-E CFM: A-C-D
Street B-D cannot he used for a  political
procession ot Thursday due to a religious
processionn. The district administration has a
policy of not allowing more than one procession
to pass along the same street on the same day.
However, the administration must allow all parties
to take out their processions during these two
days.

123, Congressprocession can be allowed
a. Only on Thursday
b, Only on Friday.
c. Un ether day.
d. Cnly if the religious procession is
cancelled.
124, < Whichafthe following is NOT true?
a. Congress and 5P can take out ther
processions on the same day.
b, The CFIJI procession cannot beallowed on
Thursday.
c. TheBJPF procession can only take place on
Friday.
d. Congress and BEP can take out ther
processions on the same day.

DIRECTIONS for Questions 125 1o 128: Answer the
questions on the basis of the following table,

Below iz a table that lists countries region-wize. Fach
region wise ligt is sorted, first by birth mte and then
alphabetically by name of countty. We now wish to
terge the region-wise list into one consdidated list
and provide overall mnkings to each country based
first on birth rate and then on death mate. Thus, if some
countries have the same birth rate, then the country
with a lower death mte will be ranked higher Further,
countries having identical birth and death rates will get
the samne ratls For example, if two countries are tied
for the third position, then both will be gven ranlk 3,
while the nest country (in the ordered list) will be
ranked 5.

Fank | Country Birth | Death | Region
Fate Fate
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FELRT IS
1. | South Aftica i) 13 Aftica 13. | Hungary 18 12 Europe
2 | Ezmt 39 13 Afica 14, | Spain 18 a Europe
3. | Catneroon 43 22 Afica 15| USSR 18 9 Europe
4. | Mozarnbigque 45 13 Afica 14, | Yugoslaiia 18 a Europe
5| Zaire 45 13 Afica 17| Czech. Fep. 19 11 Europe
g | Glama 44 14 Aftica 18, | Portugal 19 11 Furope
7. | Angola 47 23 Afica 19| Fomania 19 10 Europe
8. | Madagascar 47 22 Afica 20. | Poland 20 g Furope
9 | Morocco 47 16 Aftica
10. | Tanzarda 47 17 Aftica 125, In the consolidated lLst, what would be the
11. | Ethiopia 48 23 Aftica owerall rank of the Philippines?
12| eory Coast 45 23 Aftica a 32
13. | Bhodesta 48 14 Aftica b 33
14, | Umnda 48 17 Aftica co 34
15, | Migeria 49 21 Aftica d. 35
16, | Saudi Arabia 40 19 Aftica 126, In the consolidated list, how maty courtries
17, | Sudan 49 17 Aftica wiold ranks helow Spain and above Taiwan?
15, | Algeria 50 lé Aftica a 9
19| Ketrra 50 14 Aftica h. &
20| Upper Volta a0 28 Aftica c. 7
d @
127. In the consolidated list, which country ranlcs
RFankt | Country Birth | Death | Fegion 3
Fate | Fate a | South Aftica
1. | Japan la i Ada b, Brazil
2 | Korea (ROKD 26 i Ada c. Tuteey
3. | &5riLankm 26 g Asia d. Venezuela
4. | Taiwan 26 5 Losia 128 Inthe consolidated list, how many countries in
5 | Malaysia 30 i Asia Asia will mnk lower than every countty in
6 | Chita 31 11 Aosig South America, but higher than at least one
7. | Thailand 34 10 Asia country in Africa?
8. | Tutcey 34 12 Agia a &
9 | India 36 15 Adia b 7
10. | Bunma 33 15 Asia c. 6
11| Iran 41 12 Adia d 3
12| Vietnam 41 17 Asia
13. | Korea DFRK) | 43 12 Aosig DIRECTIONS for Questions 127 o 131: Answer the
14 | Paldstan 44 14 Adia questions on the basis of the table given below.
15, | Mepal 46 20 Asia Sex Ratio (Mumber of females per 1000 males) of
4. | Bangladesh 47 19 Asia Selected States in India: 1901-2001
17| Syria 47 14 Ada
18. | Trag 480 | 14 Asia CH =N = I I I N = N O
19. | Afegamstan p- 0 fisla 0p | oo |90 |98 |98 |98 o8 |87 |97 |97 | o7
als |2 |z |7 Jo |s v |7 |5 |2 |
Rank | Country Fate | Bitth | Death ol |91 [ & [& [&F [@6 |86 [@0 [o1 [z [o=
Rate | Region B g |9 0 2
1. | Gemany (FEGY | 10 14 Europe &
2| Austiia 11 13 Europe w fw [ [ee Jw [0 [ [es [os [o0 oz
3. | Belgium 17 12 Furope Eﬁl 51 |20 |5 Joz Joo Jos |7 2 |7 |1
4. | Gemnany (DREGY | 12 14 Europe H
5 | Sweden 12 14 Europe N EHEBEE B EREEE R R
6 | cwitzerand 17 |o Europe glor |oz |20 |e8 |es |28 |es |1 |5 |7 (o
7. | UK. 12 12 Europe NEEEEEEEEEEEE B R E
5. | Netherlands 13 |z Furope -%“ O L ER R ER O R O R B
9. | France 14 11 Europe
10, | Italy 14 10 Europe B | &3 | o4 | 5% |65 | &7 |86 |56 | & | @6 | o6
11| Greece 16 |19 Europe L S L R L I L I O A
12. | Bulgaria 17 10 Europe
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B2 [ @8 |80 |80 [ &0 Jo1 |93 Jo5 [oF [97 [ oF
gle |2 |o |7 |o |2 |& |= |3 |¢ |°
B8 | &7 | &7 |86 | &6 |ar | &F |87 |&v [&8 | o0
wl2 |5 |o [s5 |9 |z |8 |& [z [&¢ |o
H
o8 [9& 96 [o6 |96 |96 [95 |95 |98 [ 96 |96
é 3 1 e |5 |o |s Je |7 |3 |o |+
ho
W |0 |0 |Ww |0 |Wm W [Ww [W[|W[@m
Alos Joe |10 |2z |2 [28 |22 |16 |32 |36 |58
e
o7 |o6 o4 [o4 |04 |04 |oz oz |ez [ |22
Bz |7 |® |7 |s |5 |2 Jo [t |2 |o
o7 |95 |95 |04 |94 | o4 |93 Jo3 |95 [93 |92
E g | |o |7 [o 1 |& Jo |7 |+ |2
0|0 |0 |W |10 | [0 |58 [% |97 [ o7
gl |36 86 |67 |53 [22 Jor s |1 |1 ]z
&
0z |78 | 7@ |8l | &3 |a+ | =5 |86 | &7 [e8 | &7
2o lo e |5 s |4 |4 5 e |2 |4
e}
oy | @0 |9 | o0 | G0 |93 |90 Jol |8 [e1 |92
5 le |6 |7 |5 |1 e Q1 | |0 |z
&,
&
W |0 |0 |Ww |10 |0 |90 [57 [oF |97 | o8
ad |4z |20 |27 |12 Jor |2 & |7 |4 |s
0 |91 |90 o0 |G0 |95 |90 [&7 | &8 &7 |9
g |s & |3 |7 |& |7 |5 |2 |s |¢=
o4 |92 |90 |80 | &5 |aes |&F |89 | oL |91 |93
5 s |5 o |2 s e | |7 o]+
o7 |96 |25 |95 [@4 [o4 o4 Jo3 |95 [92 |93
2 |4 |5 o |5 |6 |1 o |s |7 |z
129 Each of the fillowing statements pertains to

the mumber of states  with  females

otnumbering males in a given Ccensus year,

Which of these statementsis MOT correct?

a. The rmumber never exceeded 5 in any
CETISUS FEar.

b, Thiz muynber registered itz sharpest decline
inthe year 1971

T3 af B
c. The munber of consecutive censuses in
which thiz number remmained unchanged
never exceeded 3.
d. Prior to the 1971 census, this munber was
niewver legz than 4.
130, The two states which achieved the largest
ifcreases in sex ratio over the period 1901-
2001 are
a. Punjaband HP
b, HF and Ketala
c. Agzamand J& K
d Keralaand] &K
131, Among the states which have a sex ratio
exceeding 1000 in 1901, the sharpest decline
over the period 1901 — 2001 was registered in

the state of
a. Gnoa

h. TH

. Bihar
d. Orizsa

DIRECTIONS for Questions 132 and 133: Answer
the questions on the basiz of the data presented in the

fi gure bel owr,
FReain full at Selected log adiens in Cortyin Monihs

il

132, Which ofthe following statements i3 comrect?
a. Movember rainfall escesds 100 cm in
each location
b, Septernber rainfall exceeds 50 cin in each
location.
c. Mlarch rainfall is lower than Septemnber
rainfall in each location.
d. Mone of the above
133,  Locations 6 and 7 differ from all the rest
because orly in these two locations,
a.  April rminfall exceeds DMarch minfall,
b, Peak minfall ocoursin April
c. Mowetnber rainfall is lower than Darch
rainfall.
d. April rminfall i less than 200 cm

£/ k4

AuloiaF 0
¥

g &

DIRECTIONS for Questions 134 and 137:

Answer the gquestions on the basis of the following
chatts.

The profitability of a compatyy is defined as the mtio
of its operating profit to its operating income, typically
expressed in percentage. The following two charts
chow the operating income as well as the profitabality
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of six cornpardes in the Financial Years (F.Ys) 2001-
02 and 2002-003.

Tplllog b
| l
r I I I
» * L] ] i .
o

i
. "T’UIH F'l’ﬁi:ﬂ
L]
L]
L
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The operating profits of four of these companies
are plotted a their respective operaing incotne
figures for the F.¥. 2002-03, in the third chart

given helow.
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DIRECTIONS for Questions 132 and 133: Answer
the questions on the basis of the following information,
In a Decathlon, the events ate 100, 4001 100t
trdles, 1500, High jump, Pole-swault, Long jump,
Discus, Shot Put and Jawelin. The performance in the
first four of these evenits is consolidated into Score-1,
the nexst three dtito Score-2, and the last three into
moore-3. Eachl such consolidation is obtained by giving
approptiate positive welghts to individual events. The
final scoreis siroply the total of these three scores. The
athletes with the highest, second highest and the third
highest inal scores receive the gold, slver and bronze
medals, respectively. The table below gives the scores
and perfortrances of nineteen top athletesin this event.

o

PR S

Thm & TOET | FEAl | ocor | ot@ | ocor | 00| HER | Pl
i Sca el el w3 Tm |-
T Tk

m
B
[ Eard TLo T | W | Sk | o | o | 2 | 4R
4

n

Tkl DA | oo | LF | oo | sy | = | 1o | 40
Smith 3

Tanas TZE TG | 4% | Slee | shm | o6 | 151 | 47
Dvom: 3

Thw DDE | o9 | &1 | A9l | s0& | 110 | 157 | 48
Frimith £

'T_m ToE L2 A P PG R R A
g

'Eiul-:ml =T Tren | W | ooos | amie | a1 | oa

Totm | FRE | 575 | 262 | 300 | 2oL | 07 |20 | 3D
'Tu?mnm TEG | S0 | S | NE | jllu.'; T IV
B I R e R T

Vhrts 5

Bid FRG | @6l | 575 | =0 | 3068 | 105 | 2m | 46

Eratechme 8

Imey ER L] WE | W5 | 21 | 46

Thompsoz 5

Fal: GER | 05 | 58 | = | 25 | 6 | 2% | 4B

Busem att 0

Dered | 5OV | B0 | 80 [ =W | 315 | WO | 155 | 4B

Ipvichay 2

ggcr}r T | BE | 20 | oF | SR §1.u T | 40

'Eg:m T | B |09 | 30 | 0 [T | 2% [ o]

Emell: 8

T L [ = %% | =0 | 8 [ 07 [ 20 [ 30

Tdvem 8

Reme Bl | WB& | B2 | 427 | Ales | 21D éu.? IR | 0

Bruce Ui | =46 | 46 | S | =20 | 00 | 20E | 48

Tarvier 4

BT L I D W R L X
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134, What iz the approzimate average operating
profit, in F Y. 2001 — 2002, of the two
companies excluded from the third chart?

a (Fooore

b 35 crore

c. 25 crore

d. Carmmot be deterrmined

135 . Which company  recorded  the lighest
operating profitin F. Y. 2002-037
a A
h C
c. E
d F

136, Which of the following statemnents iz NOT
true?

a. The company with the third lowest
profitability in F.¥Y. 2001-02 has the
lowest opetating incomein F. Y. 2002-03.

b, The compaty with the highest operating
income in  the two financal  years
cotrhitied tas the lowest operating profit
inF ¥ 2002-03.

c. Companies with a higher operating
icome in F.Y. 2001 — 02 than in F.¥.
2002-03 have Migher profitability in F.Y
2002-03 thanin F.¥. 2001-02.

d.  Companies with profitability between 10%
and 20% in F.¥. 2001 — 02 alzo have
operating incomes hetwesn 150 crore and
200 crorein BV, 2002-03.

137, The average operating profit in F.¥. 2002-03,
of comparies with profitability exceeding 10%
inF. ¥, 2002-03, iz approsmately:

a 17.5crare

b, 25 core

c. 7.5 crare

d. 325 crare

135, The athletes from FEG and USA decided to

mn a 4 % 100m relay mce for their respective
courtries with the country hawving three
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athletes bomowing the athlete fom CEE.
Aszsume that all the athletes ran their stretch of
the relay race at the same speed as in
Decathlon event. How rrach more time did the
FE.G relay teatn take as compared to the TT5A
teatr?

a. 0.13

b 0.23
e 073
d. 0.00

DIRECTIONS for gquestions 141 to 144:

Angwer the questions on the basiz of the fallowing
inforrmation.

The followang 1z the wholesale price index (WP of a
select list of iterns with the base year of 199304 In
other words, all the item prices are made 100 in that
wear [ 1993-04% Pricesin all other years for an item are
measured with respect to its price in the base year. For
instance, the price of cement went up by 1% in 1994
95 as compared to 1993-94. Similady, the price of
power wernt up by 3% in 1996-97 as compared 1993

s
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139,

140.

141.

143,

143.

144

145,

I B
What 15 the least that Daley Thotnson trust get
in Soore-2 that ensures him a hronze medal?
a 5309
b 5194
co 5271
d. 5270
At least how maty cotrpetitors (excluding
Daley Thotrpson) tust Wichael Smith have
out-jutrped in thelong jump event?
a 1
b 2
coo 3
d 4
Let us suppose that one bag of cement (S0kgsy
consumes 100 kgs of limestone and 10 units of
power. The only other cost item in producing
cement 15 in the form of wages During 1993-
04, limestone, power and wages contributed,
respectively 20%., 25% and 13%% to the cement
price per hag. The average operating profit (%
of price per cement-bag) eamed by a cement
manufacturer during 2002-03 is clozest to;
a A%
b | 3055
co. 38.5%
d 375
oteel mamifactuning requires the use of iron
ore power and manpower. The cost of iron ore
has followed the all items index. During 1993-
04 power accounted for 30% of the selling
price of stegl, iron ore for 25% and wages for
1R ofthe zelling price of steel. A ssuming the
cogt and price data for cement as gven in the
previous question, the operating profit (% of
selling price) of an average steel mamifacturer
in 2002-03
a Is more than that of a

manufacturer.
b, Isless than that ofa cement manufacthurer.
c. Iz the same as that of a cement
manufacturer.

d. Carmot be deterrmined
Which itetn expetienced continuous price rise
during the ten-year period?
a. Power
b, Cetnent
c. Wages
d. Limestone
What itern(s) expetienced only one decline in
pice dunng the ten-year petiod?
a. Steel and Limestone
b, Steenand Timber
c.  Titrher
d.  Timber and wages
In which year duting the period 1994-1999
was Chaidesh's export of tea, as a propottion
oftea produced, the highest?
a 1934
b, 1997

Ccetmett
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oo 1993
d. 1999

146, In which of the following years was the
population of Chaidesh the lowest?

a. 1995
b, 1904
o 1997
d 1959

147 The area under tea culbiwation continuously
decreased in all four years from 199610 1 999,
by 10%, 7%, 4%, and 1%, respectively. n
which yeat was tea productivity (production

per urit of area) the highest?
a. 1989
h. 1983
e 1997
d. 1994

DIRECTIONS for Questions 148 to 150: Answer the
questions on the basiz of the data presented in the
foure below

1 it =T Iy r=+ oA o0 R
“Hre

148,

149,

150.

koo Db

Cuning 1996-2002, the  number  of
cormmodities that exhibited a net owverall
increase and a net  owverall  decrease,
respectively, were

a Jand3
b, Zand4
c. 4and?
d. Sandl

The mumber of commodities et expenienced
a price decline for two of snore consecutive

yearsis
a 4
b 3
c. 4
d 5

For which cormraodities did a price increase
irnrnediately follow a price decline only once

inthis perind?

a. Fice,Editle oil, and Dal
b, Eggatnd Dal

c. Drion only

d. Egzgand Onion
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